
1. Air pollution is caused by smoke s
from factories and fumes from cars.

or
Smoke  from factories and fumes from cars 
causes air pollution.

  Cause/effect sentences for social issues eslflow.com

homelessness

2. Homelessness is often a result of ________

_____________________________________

drug problem

crime

traffic jams

high prices

lack of open spaces

3. High prices can lead to ______________________

__________________________________________
4. Increased crime rates can be a consequence of

 ________________________________________

7. Drug problems may arise from ______________

________________________________________

8. The lack of open spaces is usually due to

_____________________________________

5. Traffic jams are frequently caused by _______

_______________________________________

6. Addiction to social media can result from

________________________________________

addiction to social media



CES 1 Possible answers 

2. Homelessness is o5en a result of unemployment or lack of affordable housing. 

3. High prices can lead to a decrease in consumer purchasing power. 

4. Increased crime rates can be a consequence of poverty and unemployment. 

5. Traffic jams are frequently caused by road construcJon or a high number of cars during peak hours. 

6. AddicJon to social media can result from the need for social interacJon and the ease of access to 

technology. 

7. Drug problems may arise from social pressure and the availability of illegal substances. 

8. The lack of open spaces is usually due to urban development and high populaJon density. 
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